Manuals+ — User Manuals Simplified.

AVTEQ NEAT-BRK Neat Bar Mount

&

AVTEQ NEAT-BRK Neat Bar Mount Installation Guide

Home » AVTEQ » AVTEQ NEAT-BRK Neat Bar Mount Installation Guide "=

Contents
1 AVTEQ NEAT-BRK Neat Bar
Mount
2 Product Information
3 Product Usage Instructions
4 PACKAGE CONTENTS
5 Installation
6 Documents / Resources
6.1 References

AVTEQ

AVTEQ NEAT-BRK Neat Bar Mount


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/avteq
https://manuals.plus/avteq/neat-brk-neat-bar-mount-manual.pdf
https://manuals.plus/#avteq_neat-brk_neat_bar_mount
https://manuals.plus/#product_information
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#package_contents
https://manuals.plus/#installation
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Product Information

Specifications:

« Product Name: Neat Bar Mount (NEAT-BRK)
« Package Contents:
o [x1] Neat Bar Bracket (NEAT-BRK)
o [x1] Camera Spine (FS-24, FS-32, or FS-42)
o [x1] 1/4-20 Screw
o [x4] M4x0.7 Screw

Product Usage Instructions

1. Step 1: Attach camera spine
Insert the camera spine into the locking tab.
2. Step 2: Install Neat Bar wall mount to bracket (NEAT-BRK)
Above Display: Attach the Neat provided wall mount to the bottom front of Avteq’s Neat Bar Bracket. Align the
holes and secure with the provided M4 screws.
3. Step 3: Attach Neat Bar camera to Neat Bar wall mount
Mount the Neat Bar camera onto the Neat Bar wall mount securely.
4. Step 4: Secure bracket (NEAT-BRK)

Insert the 1/4-20 screw into the designated hole based on the height of the display for securing the bracket.

*TIP:
If you have any questions, contact support at support@avteqinc.com .


mailto:support@avteqinc.com

FAQ

Q: What should | do if | encounter issues during installation?
A: If you face any difficulties during installation, please refer to the user manual or contact our support team at

support@avteqinc.com for assistance.

Install Guide
Neat Bar Mount (NEAT-BRK)

PACKAGE CONTENTS

Neat Bar Mount installation requires an Avteq display mount (UM-1 or UM-2 included with Avteq carts, stands,
and credenzas) and the Neat Bar Wall Mount/Mount Adapter (included with Neat Bar camera). Please refer to the

Neat Bar Camera’s user manual for more information.
D [

Included with Neat Bar Mount (NEAT-BRK):

« A.[x1] Neat Bar Bracket (NEAT-BRK)

B. [x1] Camera Spine (FS-24, FS-32, or FS-42)
C. [x1] 1/4-20 Screw

D. [x4] M4x0.7 Screw

Installation

« STEP 1 Attach camera spine
o Remove the screws of the locking tab on the camera spine (B) and center the camera spine vertically on
the Avteq display mount.
o Fix position of camera spine using the top hooks on both sides. After positioning, screw in the locking tab.
It should be adjusted so that the bottom of the camera spine cannot separate from the bottom of the

display mount.


mailto:support@avteqinc.com

(Locking Tah)

« STEP 2 Install Neat Bar wall mount to bracket (NEAT-BRK)
Refer to Neat Bar Camera’s user manual for instructions on how to assemble the wall mount included with the

Neat Bar camera.

o To Position Camera Above Display: Attach Neat provided wall mount to the top front of Avteq’s Neat
Bar Bracket (A). Slide Avteq’s bracket mount so that the top 4 thread holes line up with the 4 beveled
holes in the Neat wall mount. Use M4 screws (D) [x4] provided to secure the Neat wall mount to the Neat
Bar Bracket.

Above Display: ™S

Neat Wall Mount included
with Neat Bar Camera

o To Position Camera Below Display: Attach Neat provided wall mount to the bottom front of Avteq’s
Neat Bar Bracket (A). Slide Avteq’s bracket mount so that the bottom 4 thread holes line up with the 4
beveled holes in the Neat wall mount. Use M4 screws (D) [x4] provided to secure the Neat wall mount to
the Neat Bar Bracket.



Below Display: Neat Wall Mount included
with Neat Bar Camera

« STEP 3 Attach Neat Bar camera to Neat Bar wall mount

Slide Neat Bar camera to the wall mount for it to hook and attach to the base of the camera.

« STEP 4 Secure bracket (NEAT-BRK)
o Hang the Neat Bar Bracket on the camera spine at the desired height with its hooks to mount the camera
either above or below the display.

o Lock in position using a 1/4-20 screw (C) [x1]. Insert in open hole from behind the mount.



@

Insert 1/4-20 screw here

l!! m or an open hole below, T Iy
depending on the height of
the display
I
m 'q:iQ

(Rear View) ‘\'q\:jg

TIP: When hanging the mount bracket (NEAT-BRK), consider the height of the display to ensure the mount
bracket is peaking out either above or below the display.

Have a question?

Contact us at support@avteqinc.com
avteqinc.com

Documents / Resources

AVTEQ NEAT-BRK Neat Bar Mount [pdf] Installation Guide
NEAT-BRK Neat Bar Mount, NEAT-BRK, Neat Bar Mount, Bar Mount

References

« @_AVTEQ | Collaborative AV Furniture Designed for Today's Technology

» User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


mailto:support@avteqinc.com
http://avteqinc.com
https://manuals.plus/m/5c4b8e72c7e9a114aa9fa8e477382927fdae2301c358026d64f6a8270f51028d
https://manuals.plus/m/5c4b8e72c7e9a114aa9fa8e477382927fdae2301c358026d64f6a8270f51028d_optim.pdf
http://avteqinc.com
https://manual.tools/?p=12693292#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	AVTEQ NEAT-BRK Neat Bar Mount Installation Guide
	AVTEQ NEAT-BRK Neat Bar Mount
	Product Information
	Product Usage Instructions
	PACKAGE CONTENTS
	Installation
	Documents / Resources
	References



